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5200 M YD F+ 3,990,000,000 4,000,000,000 -10,000,000
5210 dga+¢ 3,990,000,000 4,000,000,000 -10,000,000[HHAMHE Y MUZ M
5217 =UAEEAS 3,990,000, 000 4,000,000,000 -10,000,000
5220 J|1®3+¥ 0 0 0
5222 XIEJI23 0 0 0
5400 w2+ 13,000,000 3,000,000 10,000,000
5410 G20l Xt 5,000,000 3,000,000 2,000,000
5411 OIZ 01Xkt 5,000,000 3,000,000 2,000,000|Hl =0l Kt==& 5,000,000
5420 JIEtn=2|+g 8,000,000 0 8,000,000
5421 &= 8,000,000 0 8,000,000| 7| EF & ==& 8,000,000
OlAFE®DI0IE X2 0 0 0
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4600 oildldl 142,900,000 144,586,000 -1,686,000
4610 oildldl 142,900,000 144,586,000 -1,686,000
4611 0lidldl 142,900,000 144,586,000 -1,686,000|0il 00| 2o
1200 EXPIIELRIA K &= 1,500,000 1,500,000 0
1220 EXNAHAKIE 0 0 0
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1260 4203 ¥ 1,500,000 1,500,000 0
1264 Ao &sI|I=Hd 150,000 150,000 0
1266 YEH=HI|IZEHE 1,350,000 1,350,000 0
1300 D& KHAHDHE XI&E 44,300,000 44,300,000 0
1310 FENENMIL X & 44,300,000 44,300,000 0
1315 &DI8I S0 Yl 5,000,000 5,000,000 0
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